


Statement: Many people have

expressed surprise as the princess

has broken the royal tradition of

marriage by choosing a commoner

as her life partner.

Assumptions:

1) People expect royal families to
observe customs and traditions.

2) People still value purity of royal
blood and status when it comes to
a marriage of members of royal
family.
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(a) Only 1 is implicit
(b) Only 2 is implicit

se~) Both

(d) Neither



Statement:
(1) All A are B
(2) Some B are C
(3) NoCis D
(4) Some D are E
(S5) No Ais E
hY:
1) 9t A,B &
2) $9 B,C ©
3) d'% C, D 7T&l &
4) B D,E &

5) PIS A, E 78l 8



Conclusion:

Aome B can be E

<~ AlLE can be B
XS) All B can be E
. 0‘ E ./47 Some A can be D
X5) All D can be A

1)@B,Es‘rmﬁ§

2) ¥4l E, B 8 9&d &
@ (a) 1, 2, 3 follows 3) a4l B, E B 9&d g
(b) All are correct 4) T A, D 2 s

L/ﬂ!r 1, 2, 4 follows
(d) 3 and 5 follows 5) 4! D, A & 9&d ©




(b) G
(d) C

Nine persons from A to I sit in a
straight linear row facing towards
the north. B is third to the left of E.

G is on the immediate right of A,
who sits second to the left of B. D
sits exactly in the middle of the row.
B is not an immediate neighbor of D
and H. C sits on the immediate left
of H. I is adjacent to E.

Who is at extreme left of the row?

A 91T A Ffth SR Pl AR TG D
e N e iF ¥ S &1 B, E & 18
IR AR I W 8| G, A ® 3P qT3
IR B, O B @ 915 3R TN WM W §37
21 D Uftp & S 7= § §3a1 81 B, D
3R H &1 Adcad el 78I 81 C, H &
P T IR BT 81 L E @ Ao B
R @ TE 918 3R DI 87




8 persons A, B, C, D, E, F, G and H

are sitting around a rectangular

6 G table. Some of them are facing
' wthe centres and some of

H are facing away from the

centre in such a way that four of

, them sit at four corner of the table

while the other four sit in the
middle of four sides. Immediate

>

neighbours of G face same direction.

q C is not an immediate neighbour of
A. E is immediate to the right of G

' and A. B is facing towards centre

@ Tand is sitting opposite to G. C and F
B are facing away from centre same as

G. immediate neighbours of H face

opposite to each other. D is to the

-— immediate left of H and G. B is

Ae q D sitting on the middle side of the
¢C F table.

Who is third to the left of C?




s AP A, B,C, D, E, F, G 3R H T&
HGATPR AT D °RI 3N 383 & 99 9
FB B G s DI AR 8 3R FIY T &
®g 9 9E% 39 PR £ fF 9 9 OR
AW P IR BIFl UR 98 & SEfd I AR
S B AR Yo B I A B EI G D
T TRl &1 9@ W= fem 4 2
C, A ¥ fAecaq yeRf 78l 8| E, G 3R
AD AP TE AR B B I & dg ol
IR 2 3R a8 ¢ & AT da1 2| ¢ 3R
F & 48 G & 0% 8 P 9 faua fa=n
o AR 2| H @ Moo wsifal &1 79
U6 TR P fArdg 81 D, H AR G &
fAeay 91 AR 8| B A9 @ W& 9T W)
ST 21 C D 910 | TIaNT Biakge?

(a) E T A Q
(c) H (d) G



There are five siblings, namely A, B,
C, D and E of different ages. All these
siblings are arranged in descending
order of their ages. A, sister of C, is
'q the second youngest and is 19 years
old. D, brother of E, is b/w C and B. C

is 42 years old and A is 20 years

A 7 __  Yyounger than D. what could be
possible age of B?

C D 3 A& qig HIS—989 ©, 3 A, B, C, D 3R E
C —gel
1 |9 > o 3 e

Faferd fHar @1 g1 € @ 989 A, T
'Ol(zsj a9 B € 3R 19 9§ P 2| E BT 9IS

m D,C3IRBUDBCIE|ICPH SH42 a4 &
(a) 18 iR A, D ¥ 20 9% BleT | B & wWifdT
© 43 QST gy o @ wedh &



Ravi is a son of Aman’s father’s
sister. Sahil is the son of divya, who
is the mother of gaurav and
grandmother of aman. Ashok is the
father of Tanya and grandfather of
Ravi. Divya is the wife of Ashok.

How is Ravi related to Divya?

& f0ar oY 989 &1 9T B
/ fee &1 91 8, O TRT 9 A SR
T B T 2| AP ar @ far iR
W & T | e e @ ue B
<fa, feer & g yor wdta 87

(a) Nephew (b) Son

\Wndson (d) Brother




If in the word EQUALITY, the
positions of first and the fifth letters
are interchanged, similarly the
positions of the second and the sixth
letters are interchanged and so on,

which letter will be third from the
right end?

gfe EQUALITY ¥« H Ugd 3R Uiwd
JER & WIF Bl AU § 981 fqdT Y,
gl TPR TR 3R B3 FER D WIF P
W e H 9o fear g of ¥ BR ¥
AT 31ER PN T BITT?

q (b) 1

(c) U (d) T




How many pairs of letters are there
in the word ‘CASTRAPHONE’ which
have as many letter b/w them in the
word as in the alphabet?

3/« ‘CASTRAPHONE’ ¥ 3Rl @ 09

fhm e € Rre 4= ¥ 9o &

C

2 | 2018116815 ey A
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7 persons named K,M,R,A,G, P and S

are sitting in a circle facing centre, G
is exactly 90° from K, and 135° from
M, R is 3" right of P, who is
immW EtMSiswsite to

M, who is exactly left of K. who is
second right of A?

K K, M\, R, A, G, P3R S 7 & 7 &
B% P AR & PP TP g § 99 B, G,
K9 Jdd 902 3R M ¥ 135° X8, R, P
PIWHAANRRETRE Ol A D D
3N B S, Ma%fatlﬁ?r%m‘rx$é’l$

")




Direction : select the option that
is related to the fifth number in the

same way as the second number is
related to the first number and the

fourth number is related to the third
number:

feer 99 fddes &1 999 & o Gradl
e 9 99 UeR HeRd 8 o g
&I Ugell G&IT 9 Gafd g iR @l
T AR GT | Heied B

17 : 4607 :: 11 : ? :: 23 :11615

AT 1199 (b) 1572

(c) 1440 (d) 1463



In which year was Rahul born?
Statements:

1) Rahul at present is 25 years
younger to his mother

2) Rahul’s brother, who was born in
1964, is 35 years younger to his
mother.

Mgl B o g 99 # gar or?
HY:
1) gd fhetsra U+ A | 25 AT
BIc 8

2) XIgel BT 41g, FOrAdT =1 1964 H
g3IT o1, U1 A | 35 99 BIT B |

(a) Statement I is alone sufficient.
While II alone is not sufficient
(b) II alone is sufficient while I alone
is not sufficient.
Both I and II are sufficient
(d) Neither I nor II is sufficient
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(a) Statement I alone is sufficient

Who is to the immediate right of P

among five persons P, Q, R, Sand T

facing north?

Statements:

1) R is third to the left of Q and P is
second to the right of R.

2) Q is to the immediate left of T
who is second to the right of P.

SR 3 AR g9 fHy gU i ARHAl
P,OQ,R, SARTHAP & SId qI¥
IR B 87
D

1) R, Q ® §1¥ ¥ IR ™M R & 3R

(b) Statement II alone is sufficient P,R® T & f"ﬁ ®F R 7|

(c) Both I and II is sufficient
\Aq] Either I or II sufficient

2)Q, THIF T AIRETA P B
T W TR WM R B



(a) Only I implicit
nly II implicit

(c) Both implicit

(d) Neither implicit

Statement: should the prestigious
people who have committed crime
unknowingly be met with special

treatment?
Arguments:

1)

]

Yes. The prestigious people do not
commit crime intentionally

No. it is our policy that everybody
is equal before the law.

G K

a1 = ufafesa @ A o= #®
IR fhar 8, S 9T a9y =ya8R
fpam ST =nfRe?

do:

1) &, ufafted T SFEedR TR
GEIRG2G|

2) &, 98 TN Aifa & & dFE @

THY TR DIy G B |




Statements:

HY.
F=D2C>R>V<A2B;I<V>L
Conclusion:

frspy:

X 1) F>C
~79 D>I

(a) Only I follows

(/(-b‘rbnly II follows

(c) Both follows
(d) Either I or II



Odd one out
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7\
(a) 4328 (b) 3124
(c) 6457 (d) 2105
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A7B|7c.

A blacksmith has five iron articles A,

B, C, D and E each having a different
weight.

1) A weighs twice as much as B.
2¢B weighs four and a half times as

much as C.

3) C weighs half as much as D.
4) D weighs half as much as E. g

5) E weighs less than A, but more
than C.

Which of the following is the lightest
in weight?

U$ IeR & U9 Uid dle @ KU A, B,
C, D 3R E g RFH 4 e &1 99
STTTT—3TeAT B |
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(a) A
(b)
B

(c) D
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N>T2 V>4

Six buildings - G, H, I, N, T and V
have different number of floors.
Building H has more floors than only
I. Building G has less floors than V
which has less floors than T. Only
two buildings are there in b/w N and
G. (The building which has third
lowest number of floors has eight
floors) T has four floors more than G.

As many building has more floors
than N is the same as the less floors
than  ?

B8 ARGl G, H, I, N, T 3R v ¥ H5f7et
o T AT g fAfcsT H #H
®ad 1 9§ e el | fifcsT 6 H v
q o4 direl 8, R T 9 &9 Al £



N 3R G & d9 &9d & g9Rd g | ford
ARG § ATl B G AR g9 &
g, 994 38 Hiviel 8| T @ Ao G 9
AR HioTe D 2 |

4t 3% FRal 4 N ¥ If@ AR g,
qal ¥ FH HioTel 87

(@) T (b) H

1 () G
Good
_quwy




A certain number of people sit in a
linear row and face towards the south
direction only one person sits to the
left of F. E sits 3 to the left of the
one who sits S5 to the right of F.

ﬁ' (. 6 b e F Number of members sit b/w D and E
are sqme as number of members sit
'—-|+I_H_H_|_'—}_') b/w D and B. D sits 4tk to the left of
C. C and B are neighbours. A is the
lR m'n neighbour of C. No one sits to the

e right of A. Total No. of person?
...-—--"""F"" s fAf¥ed H@&m H§ & e | ufth Ho
___D%aﬁﬁaﬁ?aﬁwﬁmaﬁmﬂamﬁﬁ.
DIT UH AR F @ 918 3R 93aT 2| E

99 Afth & 913 AR AR RIF W §3dm
8Ol F® T8 IR 5d WM ) 9T 2|



D 3R E & 919 939 91l G ) G
3% 94 YHR 8 9 D 3R B & §9 ¥a+
qrel el 3 §&T §B 81 D, C P q1%
AR = WF | 981 81 € 3R B TSl
gl A, C & USRIl 81 A @& T 3R Big

el 997 8 | ARpal O ol 6T 7T 87
12 (b) 13
(d) 10

(c) 9




Pointing to a person in the picture, a
lady said that “He is son of the
brother of the only daughter of_my
mother’s father’s only daughter”.
How is lady related to the person in
the picture?

TR # U3 @fts 3t 3R IR HRA g,
U$ Hfgem 7 &l fb a8 &0 a1 & fiar
® Pl 9¢1 D |IS PT 9T 87| Afgal
o # afth 9 fog yoR Gaftd 87

(a) Sister \,ﬂ!ﬂunt

(c) Mother (d) Son @



Which two digits and signs need to be
interchanged so as to balance the
given equation?

fey T wieRw @1 Ggferd v @ forg
fbd @ ofdl IR fagl & sgam @
AIIIHAT 87
65+13-119+32x8 =175
)({a) 8 and 3; x and +
9 and 8; + and +
(c) S and 8; - and X

g-"'l lB‘lg-X'l (d) 2 and 9; + and X




Statement: The employee’s
association urged its members to
stay away from the annual function
as many of their demands were not
met by the management.
Assumption:

Majority of the members of the

association may not attend the

function.

x] The management may cancel the

Only I is implicit
(b) Both is implicit
(c) Only II is implicit
(d) Neither

annual function.

HYF: HHAR! AT | I Al A
qiffes §ARIE ¥ g Y81 &I AT
frar wifes SHH ®Hs JAF gEEH gRT
R BT B S |

HI=dT:

1) THRITEE & ARFHI AT 9IRS
# e 18 B 9 B |

2) ¥auq 9if¥e 9HRIE I8 B AHhdl
2|



Statement: should new universities

be established in India?

Arguments:

1) No. we have still not achieved the
target for literacy.

2) No. we will have to face the

X problem of unemployed of highly

qualified people.

HYT: T 9Ra A 99 feafene™
wnfd & s =nfag?
a&:
1) ST8I, 899 3 Al AERdAl &1 ey
HIGCEERET IR
2) T8I, BH S&d ARG AN @ SRR
BN B GHRT BT AT HRAT TS |
(a) Only 1 (b) Both
(c) Only 2 \ld}=None



What will come in place of question
mark (?) in the following series

frfeied siaen 9 v e (?) & ®IF
U T 3TYT?

28:98:36:°7
(a) 192 Vmﬁz
(c) 190 (d) 160 @

Xq e
Y ?’fzﬂ?\ 1 XL




How many quadrilaterals are there in
the given figure?

< TS Apfa A fha IgHe &7

c

T — e
H (a) 15 (b) 13 A
(c)r14 @ (d) 16




Statement:

W: /\
M<N<USR=T2V2E
Conclusion:

foremy:

1) T>N
%) R>E
3) M>T




